Addition

Find the sum of the following.

1.70+3+5=__ 11.15+10+9=_
.55+10+4=__  12.47+6+5=__
. 32+3+9=___ 13.29+8+4=__
45+10+5=___ 14.23+10+4=___
.35+10+6=__ 15 44+3+7=_____
24+12+4=__  16.66+4+5=__
67+3+5=__  17.48+9+6=__
.51+10+7=___ 18.50+10+4=__

39+6+3= 19.37 + 11+ 4=___

1025+9+8=__  20.68+6+3=___
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Answer Sheet o
Addition
RN

Find the sum of the following.

1.70+3+5=78 11.15+10+9=_34

55+10+4=69 12 47+6+5= D58

.32+3+9=_44 13.29+8+4=_41
.45+10+5=95 14 23+10+4=37
.35+10+6=51 15 44+3+7=-_54
24+12+4=-40 16.66+4+5=_75
67+3+5=_75 17.48+9+6=_63
.51+10+7= 68 18 50+10+4=_64
. 39+6+3=_48 19.37+11+4=_52
1025+9+8=_42 20.68+6+3=_77
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